
CS10 Spring 2017 Midterm 2 Answers 
Question 1a: Shade in all the pixels that are filled in after . 
Question 1b: What’s the running time of Mystery? Logarithmic, because 
length halves every time. So even if length were 2048, there would only be 
10 iterations! 
Question 2a: GAJEHGBG 

 
Question 2b: 

 
Question 2c: 

 
Question 2d: The smallest number for 3 steps is one whose digits sum to 99 (the smallest recursion level 2 case), so 
that’s 11 9s, or “99999999999”. 
Question 3: They are all possible. The secret to this question is that you can drop a zero by reversing a multiple of 10 (as 
in the example, 1230 becomes 321). That’s easy for even numbers, since you can just get to a multiple of 10, then reverse 
it twice to drop the 0. For odd numbers it seems impossible, but all you need to do is add 2 until your most significant digit 
is even, then reverse it, and you’re all set (just add 2 until you get to 700 or 7000 etc and reverse it).  
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